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Short Questions (1 X 5 = 5) ﬁ‘%{%} ¥
Q1. Aditi is learning concepts of pixel and leamns that pixel p at coqf ina’?%ﬁix, y) has 4

neighbors (N4P). Let us know which coordinates she learned.
%,
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Q2. An image is 2400 pixels wide and 2400 pixels high. The j age § scanned at 300dpi.

What is the physical size of the image? 3%8 = [CO1]
Q3. Assume that an image f'(x, y) is sampled so that thetrgs@%m rows and N columns. If the

values of the coordinates at the origin are (x, ¥) = (0, O).fien the notation (0, 1) signifies
which sample and row. g [CO1]
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Q4.The class teacher asks students to write theﬂﬁa temnatical expression of the inversion

operation and log transform operation on“(ﬁg(i’%ﬁ What they will write? (use L as the
- ot

number of grey levels). I [CO2Z]
Q5. Compute the cumulative running gfy%@l&i? the probabilities are 8, 10, and 2. {CO2]
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£ wk%n;gg)”’ Questions (2 x 5=10)
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Q6. Help Siya in finding the convolution of an image having F= [0, 0, 1, 0, 0] and the kernel =
[135]. [Co2]
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Q7. Given a greyscale image on paper whose physical dimensions is 3 inch by 3 inches scanned
al a rate of 250dpi. Calculate how much time is required to transmit the image if the modem

is 30kbps. [CO1]
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Q8. Perform the Histogram Equalization on the following 3 x 3, eight-level image [CO2]
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Q9. How do you bring out more of the skeletal detail from a Nuclear Whole Body Bone Scan?
[CO2]

Q10. Which of the technique fails to work on dark intensity distributions? [CO2}



